

## 水平リフト接続を持つ接バンドル上の無限小射影変換

メタデータ	言語: English 出版者: 公開日: 2008-05-21 キーワード (Ja): キーワード (En): 作成者: 長谷川, 和泉, 山内, 一也 メールアドレス: 所属:
URL	<a href="https://doi.org/10.32150/00005149">https://doi.org/10.32150/00005149</a>

# Infinitesimal Projective Transformations on the Tangent Bundles with the Horizontal Lift Connection

HASEGAWA Izumi and YAMAUCHI Kazunari\*

Department of Mathematics, Sapporo Campus  
Hokkaido University of Education  
Sapporo 002-8502

\*Asahikawa Medical College  
Asahikawa 078-8510

## 水平リフト接続を持つ接バンドル上の無限小射影変換

長谷川 和泉・山内 一也\*

北海道教育大学札幌校数学教室  
\*旭川医科大学

### Abstract

Let  $(M, g)$  be a complete Riemannian manifold and  $TM$  its tangent bundle with the horizontal lift connection. If  $TM$  admits a non-affine infinitesimal projective transformation, then  $M$  and  $TM$  are locally flat.

### 1. Introduction

In the present paper everything will be always discussed in the  $C^\infty$ -category, and manifolds will be assumed to be connected and dimension  $n > 1$ .

Let  $M$  be a manifold and  $TM$  its tangent bundle. We denote by  $\mathfrak{S}_s^r(M)$  the set of all tensor fields of type  $(r, s)$  on  $M$ . Similarly, we denote by  $\mathfrak{S}_s^r(TM)$  the corresponding set on  $TM$ .

Let  $\nabla$  be an affine connection on  $M$ . A vector field  $V$  on  $M$  is called an infinitesimal projective transformation if there exists a 1-form  $\Omega$  such that

$$(L_V \nabla)(X, Y) = \Omega(X)Y + \Omega(Y)X$$

for any  $X, Y \in \mathfrak{S}_0^1(M)$ , where  $L_V$  is the Lie derivation with respect to  $V$ . In this case  $\Omega$  is called the associated 1-form of  $V$ . Especially, if  $\Omega = 0$ , then  $V$  is called an infinitesimal affine transformation.

Next, let  $g$  be a Riemannian metric on  $M$  and  $\nabla$  the Levi-Civita connection of  $g$ . Denote by  $V$  a vector field on  $M$ .  $V$  is called an infinitesimal conformal transformation if there exists a function  $f$  on  $M$  satis-

fying  $L_V g = fg$ . Especially, if  $f$  is constant, then  $V$  is called an infinitesimal homothetic transformation. Furthermore, if  $f = 0$ , then  $V$  is called an infinitesimal isometry.

In this paper, we prove the following

**Theorem.** *Let  $(M, g)$  be a complete Riemannian manifold and  $TM$  its tangent bundle with the horizontal lift connection. If  $TM$  admits a non-affine infinitesimal projective transformation, then  $M$  and  $TM$  are locally flat.*

## 2. Preliminaries

Let  $(M, g)$  be a Riemannian manifold,  $\nabla$  the Riemannian connection of  $g$  and  $\Gamma_{ji}^h$  the coefficients of  $\nabla$ , i.e.,  $\Gamma_{ji}^a \partial_a := \nabla_{\partial_j} \partial_i$ , where  $\partial_h = \frac{\partial}{\partial x^h}$  and  $(x^h)$  is the local coordinates of  $M$ . We define a local frame  $\{E_i, E_{\bar{i}}\}$  of  $TM$  as follows :

$$E_i := \partial_i - y^b \Gamma_{ib}^a \partial_a \quad \text{and} \quad E_{\bar{i}} := \partial_{\bar{i}},$$

where  $(x^h, y^h)$  is the induced coordinates of  $TM$  and  $\partial_{\bar{i}} := \frac{\partial}{\partial y^i}$ , and call this frame  $\{E_i, E_{\bar{i}}\}$  the adapted frame of  $TM$ . Then  $\{dx^h, \delta y^h\}$  is the dual frame of  $\{E_i, E_{\bar{i}}\}$ , where  $\delta y^h := dy^h + y^b \Gamma_{ab}^h dx^a$ .

By the definition of the adapted frame, we have the following

**Lemma 1.** *The Lie brackets of the adapted frame of  $TM$  satisfy the following identities :*

- (1)  $[E_j, E_i] = y^b K_{ijb}^a E_{\bar{a}}$
- (2)  $[E_j, E_{\bar{i}}] = \Gamma_{ji}^a E_{\bar{a}}$ ,
- (3)  $[E_{\bar{j}}, E_{\bar{i}}] = 0$ ,

where  $K = (K_{kji}^h)$  denotes the Riemannian curvature tensor of  $(M, g)$  defined by  $K_{kji}^h := \partial_k \Gamma_{ji}^h - \partial_j \Gamma_{ki}^h + \Gamma_{ji}^a \Gamma_{ka}^h - \Gamma_{ki}^a \Gamma_{ja}^h$ .

Let  $\tilde{\nabla}$  be the horizontal lift connection on  $TM$  defined as follows :

$$\begin{aligned} \tilde{\nabla}_{E_j} E_i &= \Gamma_{ji}^a E_a, \quad \tilde{\nabla}_{E_j} E_{\bar{i}} = \Gamma_{ji}^a E_{\bar{a}}, \\ \tilde{\nabla}_{E_{\bar{j}}} E_i &= 0, \quad \tilde{\nabla}_{E_{\bar{j}}} E_{\bar{i}} = 0. \end{aligned}$$

This connection is the metric connection of the complete lift metric  $\tilde{g} = 2g_{ba} dx^b \delta y^a$  or the lift metric  $\tilde{g} = g_{ba} dx^b dx^a + 2g_{ba} dx^b \delta x^a$ . But it is not necessary for the present paper to use the lift metric itself.

We need the following well known lemma to prove Theorem.

**Lemma 2** ([K1]). *If a complete Riemannian manifold  $M$  admits a non-isometric infinitesimal homothetic transformation, then  $M$  is locally flat.*

## 3. Infinitesimal projective transformation on $TM$

**Proposition 1.** *Let  $(M, g)$  be a Riemannian manifold and  $TM$  its tangent bundle with the horizontal lift connection.  $\tilde{V}$  is an infinitesimal projective transformation with the associated 1-form  $\tilde{\Omega}$  on  $TM$  if and only if there exist  $\varphi, \psi \in \mathfrak{S}_0^0(M)$ ,  $B = (B^h)$ ,  $D = (D^h) \in \mathfrak{S}_0^1(M)$ ,  $A = (A_i^h)$ ,  $C = (C_i^h) \in \mathfrak{S}_1^1(M)$  satisfying*

- (1)  $(\tilde{V}^h, \tilde{V}^{\bar{h}}) = (B^h + y^a A_a^h, D^h + y^a C_a^h + y^a y^h \Phi_a),$
- (2)  $(\tilde{\Omega}_i, \tilde{\Omega}_{\bar{i}}) = (\partial_i \phi, \partial_i \varphi) = (\Psi_i, \Phi_i),$
- (3)  $\nabla_j \Phi_i = 0, \nabla_j \Psi_i = 0,$
- (4)  $\nabla_j A_i^h = \Phi_i \delta_j^h,$
- (5)  $\nabla_j C_i^h = \Psi_j \delta_i^h - K_{a\bar{j}}^h B^a,$
- (6)  $L_B \Gamma_{\bar{j}}^h = \nabla_j \nabla_i B^h + K_{a\bar{j}}^h B^a = \Psi_j \delta_i^h + \Psi_i \delta_j^h,$
- (7)  $\nabla_j \nabla_i D^h = 0.$
- (8)  $K_{kja}^h A_i^a = 0,$

where  $(\tilde{V}^h, \tilde{V}^{\bar{h}}) := \tilde{V}^a E_a + \tilde{V}^{\bar{a}} E_{\bar{a}} = \tilde{V}, (\tilde{\Omega}_i, \tilde{\Omega}_{\bar{i}}) := \tilde{\Omega}_a dx^a + \tilde{\Omega}_{\bar{a}} \delta y^a = \tilde{\Omega}.$

*Proof.* Here we prove only the necessary condition because it is easy to prove the sufficient condition.

Let  $\tilde{V}$  be an infinitesimal projective transformation with the associated 1-form  $\tilde{\Omega}$  on  $TM$ .

From  $(L_{\tilde{V}} \tilde{\nabla})(E_{\bar{j}}, E_{\bar{i}}) = \tilde{\Omega}_{\bar{j}} E_{\bar{i}} + \tilde{\Omega}_{\bar{i}} E_{\bar{j}},$  we obtain

$$(3.1) \quad \partial_{\bar{j}} \partial_{\bar{i}} \tilde{V}^h = 0$$

and

$$(3.2) \quad \partial_{\bar{j}} \partial_{\bar{i}} \tilde{V}^{\bar{h}} = \tilde{\Omega}_{\bar{j}} \delta_i^h + \tilde{\Omega}_{\bar{i}} \delta_j^h.$$

From (3.1), we have

$$\partial_{\bar{i}} \tilde{V}^h = A_i^h$$

and

$$(3.3) \quad \tilde{V}^h = B^h + y^a A_a^h,$$

where  $B^h$  and  $A_i^h$  are certain functions which depend only on  $x^h$ . The coordinate transformation rule implies that  $B = (B^h) \in \mathfrak{S}_0^1(M)$  and  $A = (A_i^h) \in \mathfrak{S}_1^1(M).$

From  $(L_{\tilde{V}} \tilde{\nabla})(E_{\bar{j}}, E_i) = \tilde{\Omega}_{\bar{j}} E_i + \tilde{\Omega}_i E_{\bar{j}},$  using (3.3), we obtain

$$(3.4) \quad \tilde{\Omega}_{\bar{j}} \delta_i^h = \nabla_i A_j^h$$

and

$$(3.5) \quad \tilde{\Omega}_j \delta_i^h = K_{aij}^h B^a + y^a (K_{bij}^h A_a^b + K_{bia}^h A_j^b) + \Gamma_{ai}^h \partial_j \tilde{V}^{\bar{a}} \partial_{\bar{j}} (E_i \tilde{V}^{\bar{h}}).$$

Contracting  $j$  and  $h$  in (3.4), we have  $\tilde{\Omega}_{\bar{j}} = \nabla_i A_a^a$ . Therefore we have

$$(3.6) \quad \tilde{\Omega}_{\bar{i}} = \Phi_i = \partial_i \varphi,$$

where  $\varphi_i := A_a^a$  and  $\Phi_i := \partial_i \varphi$ . From (3.4) and (3.6), we get

$$(3.7) \quad \nabla_j A_i^h = \Phi_i \delta_j^h.$$

From (3.2) and (3.6), we have

$$\partial_{\bar{i}} \tilde{V}^{\bar{h}} = C_i^h + y^h \Phi_i + y^a \Phi_a \delta_i^h$$

and

$$(3.8) \quad \tilde{V}^{\bar{h}} = D^h + y^a C_a^h + y^a y^h \Phi_a,$$

where  $D^h$  and  $C_i^h$  are certain functions which depend only on  $x^h$ . We can see that

$D = (D^h) \in \mathfrak{S}_0^1(M)$  and  $C = (C_i^h) \in \mathfrak{S}_1^1(M).$

Substituting (3.8) into (3.5), we obtain

$$(3.9) \quad \tilde{\Omega}_j \delta_i^h = \nabla_i C_j^h + K_{aij}^h B^a + y^a (K_{bij}^h A_a^b + K_{bia}^h A_j^b + \delta_a^h \nabla_i \Phi_j + \delta_j^h \nabla_i \Phi_a).$$

On the other hand, from  $(L_{\tilde{V}} \tilde{\nabla})(E_j, E_{\bar{i}}) = \tilde{\Omega}_j E_{\bar{i}} + \tilde{\Omega}_{\bar{i}} E_j,$  we get

$$(3.10) \quad \tilde{\Omega}_j \delta_i^h = \nabla_i C_j^h + K_{a\bar{j}}^h B^a + y^a (K_{bij}^h A_a^b + \delta_a^h \nabla_j \Phi_i + \delta_i^h \nabla_j \Phi_a).$$

Comparing (3.9) with (3.10), we obtain

$$(3.11) \quad K_{kja}{}^h A_i^a = 0$$

and

$$(3.12) \quad \tilde{\Omega}_j \delta_i^h = \nabla_j C_i^h + K_{a\tilde{j}}{}^h B^a + y^a \left( \delta_a^h \nabla_j \Phi_i + \delta_i^h \nabla_j \Phi_a \right).$$

Contracting  $i$  and  $h$  in (3.12), we get

$$(3.13) \quad n \tilde{\Omega}_j = \nabla_j C_a^a + (n+1) y^a \nabla_j \Phi_a.$$

Here, we put  $\psi := \frac{1}{n} C_a^a$  and  $\Psi_i := \nabla_i \psi = \partial_i \psi$ . Then, from (3.12) and (3.13), we obtain

$$(3.14) \quad \tilde{\Omega}_i = \Psi_i + \frac{n+1}{n} y^a \nabla_i \Phi_a,$$

$$(3.15) \quad \nabla_j C_i^h = \Psi_j \delta_i^h - K_{a\tilde{j}}{}^h B^a,$$

and

$$(3.16) \quad n \delta_k^h \nabla_j \Phi_i - \delta_i^h \nabla_j \Phi_k = 0.$$

Contracting  $k$  and  $h$  in (3.16), we have

$$(3.17) \quad \nabla_j \Phi_i = 0.$$

From (3.14) and (3.17), we get

$$(3.18) \quad \tilde{\Omega}_i = \Psi_i.$$

From  $(L_{\tilde{\nu}} \tilde{\nabla})(E_j, E_i) = \tilde{\Omega}_j E_i + \tilde{\Omega}_i E_j$ , we obtain

$$(3.19) \quad L_B \Gamma_{\tilde{j}}{}^h = \Psi_j \delta_i^h + \Psi_i \delta_j^h,$$

$$(3.20) \quad \nabla_j \nabla_i D^h = 0$$

and

$$(3.21) \quad \nabla_k \nabla_j C_i^h + \nabla_k (K_{a\tilde{j}}{}^h B^a) = 0.$$

Substituting (3.15) into (3.21), we have

$$(3.22) \quad \nabla_j \Psi_i = 0.$$

Q.E.D.

*Proof of Theorem.*

We put  $X^h := A_a{}^h \Phi^a$ . Then, using (3.7) and (3.17), we have

$$(3.23) \quad \begin{aligned} L_X g_{\tilde{j}} &= \nabla_j X_i + \nabla_i X_j \\ &= (\nabla_j A_{ai}) \Phi^a + (\nabla_i A_{aj}) \Phi^a \\ &= 2(\Phi_a \Phi^a) g_{\tilde{j}}. \end{aligned}$$

Similarly we put  $Y^h := (\nabla_a B^h - C_a{}^h) \Psi^a$ . Then, using (3.15), (3.19) and (3.22),

$$(3.24) \quad \begin{aligned} L_Y g_{\tilde{j}} &= (\nabla_j \nabla_a B_i - \nabla_j C_{ai}) \Psi^a + (\nabla_i \nabla_a B_j - \nabla_i C_{aj}) \Psi^a \\ &= \left\{ (-K_{bja} B^b + \Psi_j g_{ai} + \Psi_a g_{\tilde{j}}) - (\Psi_j g_{ai} - K_{bja} B^b) \right\} \Psi^a + (\Psi_a g_{\tilde{j}}) \Psi^a \\ &= 2(\Psi_a \Psi^a) g_{\tilde{j}}. \end{aligned}$$

Therefore  $X$  and  $Y$  are infinitesimal homothetic transformations. If  $M$  is not locally flat, then  $\Phi = \Psi = 0$  by virtue of Lemma 2, and consequently  $\tilde{\Omega} = 0$ . This is a contradiction. Therefore  $M$  is locally flat. In this case  $TM$  is also locally flat.

Q.E.D.

References

- [K1] S. Kobayashi, *A theorem on the affine transformation group of a Riemannian manifold*, Nagoya Math. J. 9 (1955), 39–41.
- [K2] ———, *Transformation Groups in Differential Geometry*, Springer, 1972.
- [S] S. Sasaki, *On the differential geometry of tangent bundles of Riemannian manifolds*, Tôhoku Math. J. 10 (1958), 338–354.
- [Y] K. Yamauchi, *On Riemannian manifolds admitting infinitesimal projective transformations*, Hokkaido Math. J. 16 (1987), 115–125.
- [Y-I] K. Yano and S. Ishihara, *Tangent and Cotangent Bundles*, Marcel Dekker, 1973.